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Question 1
Question Type: MultipleChoice

How does NETCONF YANG represent data structures?

Options: 
A) as strict data structures denned by RFC 6020

B) in an XML tree format

C) in an HTML format

D) as modules within a tree

Answer: 
A

Question 2
Question Type: MultipleChoice



Refer to the Exhibit.

Image not found or type unknown

Running the script causes the output in the exhibit. What should be the first line of the script?

Options: 
A) from ncclient import manager

B) import manager

C) from ncclient import *

D) ncclient manager import

Answer: 
C

Question 3
Question Type: DragDrop



Drag and drop the code snippets from the bottom onto the blanks in the code to construct a request that configures a deny rule on an

access list?

.
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Answer: 

Question 4
Question Type: MultipleChoice

Refer to the Exhibit.

Image not found or type unknown

Refer to the exhibit. Link 1 uses a copper connection and link 2 uses a fiber connection. The fiber port must be the primary port for all

forwarding. The output of the show spanning-tree command on SW2 shows that the fiber port is blocked by Spanning Tree. After

entering the spanning-tree port-priority 32 command on G0/1 on SW2, the port remains blocked. Which command should be entered on

the ports connected to Link 2 is resolve the issue?



Options: 
A) Enter spanning-tree port-priority 64 on SW2

B) Enter spanning-tree port-priority 224 on SW1.

C) Enter spanning-tree port-priority 4 on SW2.

D) Enter spanning-tree port-priority 32 on SW1.

Answer: 
D

Explanation: 
.

Question 5
Question Type: MultipleChoice

Refer to the Exhibit.



Image not found or type unknown

Refer to the exhibit. What is the value of the variable list after the code is run?

Options: 
A) [1, 2, 10]

B) [1, 2, 3, 10]

C) [1, 2, 10, 4]

D) [1, 10, 10, 10]

Answer: 
B

Explanation: 
.



Question 6
Question Type: DragDrop

Refer to the Exhibit.

Refer to the exhibit Drag and drop the snippets into the RESTCONF request to form the request that returns this response Not all

options are used
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Answer: 

Question 7
Question Type: MultipleChoice

Refer to the exhibit. What does the error message relay to the administrator who is trying to configure a Cisco IOS device?

Options: 



A) A NETCONF request was made for a data model that does not exist.

B) The device received a valid NETCONF request and serviced it without error.

C) A NETCONF message with valid content based on the YANG data models was made, but the request failed.

D) The NETCONF running datastore is currently locked.

Answer: 
A

Question 8
Question Type: MultipleChoice

A network engineer configures a new GRE tunnel and enters the show run command. What does the output verify?

Options: 
A) The tunnel will be established and work as expected

B) The tunnel destination will be known via the tunnel interface



C) The tunnel keepalive is configured incorrectly because they must match on both sites

D) The default MTU of the tunnel interface is 1500 byte.

Answer: 
B

Explanation: 
.
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